AN A s s 1A208(E) FISKHETAEE
F2MERIBER(FERFIE) 2% .0 LR
1A20H(x) FEITIL—T

7\\)[/—70A m 7 £ M = 5 MR IBRE| B | B |@tor|seor| e@n|pas| wore|gas
25 - 10 16 - 25 15 - 25
® m = Q) 25 - 14/0|0(21 - 25/2(0(18 - 25/2| 3| 1|2 |2 | 4 |120/124|050|0.97
10 - 25 11 - 25 9 - 25
@ & M |0[14 - 252 Q) O[11 - 252|014 - 25(2(4 0| 3|0|669|150{000|0.46
25 - 16 25 - 11 25 - 17
@ B B (2|25 - 21/0[2]25 - 1|0 Q) 2125 - 1710|1306 |0 150/93| — |16t
25 - 15 25 - 9 17 - 25
@ LR 2025 - 18/0[2|25 - 140|017 - 25|2 Q) 2121114 2 (134{106|2.00|1.26
7\\ )[/—708 m = ERIIN=]E {ERI-B&E-TK 2 A IBGL| B | BR |@evr|xtor | 0@a|BEs|eos|gax
25 - 9 20 - 25 25 - 11
® M = Q) 25 - 8(0(0[13 - 25/2(2|25 - 9|0/ 2|12 |14 | 2 |133/87 200|153
9 - 25 2 - 25 12 - 25
®| MWBEkE (0|8 - 252 Q) O(6 - 25/2/0[14 -25/24|0|/3/0|6|51|150[0.00/0.34
25 - 20 25 - 2 25 - 17
@|EaT-B&E-5Kk| 2|25 - 13/0[2|25 - 6|0 Q) 2(25 - 2110|1306 |0 (15079| — |1.90
11 - 25 25 - 12 17 - 25
B A |0|9 - 252(2]25 - 14/0|0]|21 - 252 Q) 311224 |108[126[050/0.86

m & ¥ & M 1 & 8 EUBAkE
%A 1 Q=G £R%E QAT BE-EX
= & DR fE-B&E-EX B A
s | QRM 2 8 @REILBkE
m&E % & M E  x #E-BEEEK
A | ORLE 3 sERAE 0 @BA
R x #BFE 4 RILBE B A
s 1 ONE s OFK
m & # AR 5 Mmoo B A
%8 . Q@ @ g ¢ ® @
EM = & RILEE = #-8s 5%
sea 0 D @ : RS ®




